“Unsolved” Key to Exam 1; Finance 4360; Fall 2005




Short answer questions/problems

Note:  if you write more than a couple of sentences on a short-answer question, you are likely writing too much.

1.  List (but do not discuss) the two basic warning signs for any ratio you are examining.
1)  too high or low compared to industry or competitors; 2) trending away from industry or competitors.

2.  List (but do not discuss) the ratio from the review sheet that best measures a firm’s ability to write a check to pay the interest it owes over some period.

Cash coverage ratio

3.  Assume that two firms have identical NOPAT and Capital, but that firm #1 is riskier than firm #2.  Briefly state which firm you would expect to have a higher EVA and why.

#2 – lower cost of capital means a lower capital charge and thus a higher EVA.
Use the information on the following pages to answer questions 4 and 5. 

4.  Assume you want to determine Goodyear’s Basic EVA for 2004.  Calculate NOPAT.
114.8 + 368.8
5.  Assume you want to determine Goodyear’s Harnischfeger EVA for 2004.  Calculate Intangible Assets.
658.2 + 150.4 + 106.6
6.  In order to save for a year-long backpacking trip across Europe, you plan to make a series of monthly deposits of $400 each into a savings account.  You plan to make your initial deposit today and your final deposit on the day you graduate exactly 19 months from today.  Since you do not plan to leave for Europe until 2 months after graduation, you will wait until 2 months after you graduate to make the first of 4 quarterly withdrawals from your account (the first withdrawal would be 21 months from today).  Note that you will only make quarterly withdrawals since you will be away from civilization most of the time.  Note also that you would like for each withdrawal to be 3% larger than the previous one to allow for inflation.  List the steps that would allow you to solve for the size of your first withdrawal?  Note: Begin (step 1) with the monthly $400 deposits.
1)  future value of annuity, present value of lump sum, present value of growing annuity

7.  Assuming you use the same interest rate in steps 1 and 2, what would you use for “t” or “n” in each of your steps?  Be sure to make it clear which number goes with which step.
1 = 20, 2 = 1, 3 = 4
Alternative answers to 6 and 7:

6)  PVA, FVLS, PVGA; 7) 20, 19, 4

6)  PVA, FVLS, FVGA; 7)  20, 31, 4

6)  FVA, FVLS, FVGA; 7)  20, 11, 4

Draw your answers for questions 8 and 9 on the same graph.

8.  You are considering investing in Alcoa, TI, and Exxon-Mobil.  Over the past 12 months, Exxon-Mobil has earned the highest average return while Alcoa has earned the lowest average return.  Also, over the past 12 months, the standard deviation of returns on Exxon-Mobil has been the highest while the standard deviation on TI has been the lowest.  If you assume that these relationships will hold into the future, sketch a graph of these three investments if held in isolation and sketch a graph of the best possible ways to combine the 3 stocks into a portfolio.  Be sure to clearly label what part of the graph represents Alcoa held by itself, TI held by itself, Exxon-Mobil held by itself, and the best possible combination or combinations.
Description of graph:  Exxon-Mobil is highest and furthest to right, TI is 2nd highest and furthest to the left, Alcoa is lowest but in the middle from right to left.  The efficient set extends down and to the left from Exxon-Mobil but is above TI and Alcoa.
9.  Assume that none of the information from 8 has changed except that you can also borrow or lend at the risk-free rate of interest.  On the same graph you used to answer 8, show how your answers to 8 have changed because of the ability to borrow or lend at the risk-free rate of interest.  (Show any changes to the graph of Alcoa held by itself, TI held by itself, Exxon-Mobil held by itself, and the best possible combination or combinations).  Be sure to clearly label which part of the graph answers question 8 and which answers question 9.
Description of graph:  optimal combination is point of tangency for line that extends from risk free rate to efficient set.
10.  Based on the following information, which of the following stock would have the highest required return according to the capital asset pricing model (or security market line):
Texas instruments:  highest beta, lowest standard deviation

Exxon-Mobil:  lowest beta, highest standard deviation

Alcoa:  middle beta, middle standard deviation

Texas instruments
Problems/Essays

1.  Based on the following information, what is your estimate of the required return on Goodyear Tire & Rubber Co. (GT)?

Expected return on S&P 500 in the future:  10%

Return on T-bills:  2.7%

Returns for past 4 years (August to August):

Year
Goodyear
S&P500
2005
53%
11%

2004
54
10

2003
-46
10

2002
-43
-19
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2.  You have just purchased a growth bond issued by Goodyear that will pay you $250 four months from today.  After this initial payment, the bond will make monthly payments that grow by 0.5% each through 10 years from today.  If you must earn a return of 9.5% per year on the bond, what is the most you will be willing to pay for the bond today?
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 Additional information for Goodyear Tire & Rubber Company
	 
	 

	Note 7.
	 Goodwill and Other Intangible Assets


 Goodwill and intangible assets with indefinite lives are tested for impairment annually or when events or circumstances indicate that impairment may have occurred. We elected to perform the annual impairment testing as of July 31. Based on the results of the testing, no impairment of goodwill or intangible assets with indefinite lives has been indicated.

      The following table presents information about goodwill and other intangible assets:

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	2003
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	2004
	 
	 
	Restated
	 

	 
	 
	 
	 
	 
	 
	 

	 
	 
	Gross
	 
	 
	 
	 
	Net
	 
	 
	Gross
	 
	 
	 
	 
	Net
	 

	 
	 
	Carrying
	 
	 
	Accumulated
	 
	 
	Carrying
	 
	 
	Carrying
	 
	 
	Accumulated
	 
	 
	Carrying
	 

	 
	 
	Amount
	 
	 
	Amortization
	 
	 
	Amount
	 
	 
	Amount
	 
	 
	Amortization
	 
	 
	Amount
	 

	(In millions)
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 Goodwill
	 
	$
	833.5
	 
	 
	$
	(113.2
	)
	 
	$
	720.3
	 
	 
	$
	764.8
	 
	 
	$
	(106.6
	)
	 
	$
	658.2
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 Intangible assets with indefinite lives
	 
	$
	123.5
	 
	 
	$
	(7.3
	)
	 
	$
	116.2
	 
	 
	$
	117.3
	 
	 
	$
	(7.3
	)
	 
	$
	110.0
	 

	 Trademarks and Patents
	 
	 
	50.5
	 
	 
	 
	(21.0
	)
	 
	 
	29.5
	 
	 
	 
	44.6
	 
	 
	 
	(16.8
	)
	 
	 
	27.8
	 

	 Other intangible assets
	 
	 
	25.6
	 
	 
	 
	(8.7
	)
	 
	 
	16.9
	 
	 
	 
	19.9
	 
	 
	 
	(7.3
	)
	 
	 
	12.6
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 Total Other intangible assets
	 
	$
	199.6
	 
	 
	$
	(37.0
	)
	 
	$
	162.6
	 
	 
	$
	181.8
	 
	 
	$
	(31.4
	)
	 
	$
	150.4
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 


THE GOODYEAR TIRE & RUBBER COMPANY AND SUBSIDIARIES

 Consolidated Statement of Income

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	Year Ended December 31,
	 

	 
	 
	 
	 
	Restated
	 

	 
	 
	2004
	 
	 
	2003
	 
	 
	2002
	 

	(Dollars in millions, except per share amounts)
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 Net Sales
	 
	$
	18,370.4
	 
	 
	$
	15,122.1
	 
	 
	$
	13,856.0
	 

	 Cost of Goods Sold
	 
	 
	14,709.2
	 
	 
	 
	12,499.0
	 
	 
	 
	11,306.9
	 

	 Selling, Administrative and General Expense
	 
	 
	2,833.1
	 
	 
	 
	2,374.2
	 
	 
	 
	2,202.4
	 

	 Rationalizations (Note 3)
	 
	 
	55.6
	 
	 
	 
	291.5
	 
	 
	 
	5.5
	 

	 Interest Expense (Note 15)
	 
	 
	368.8
	 
	 
	 
	296.3
	 
	 
	 
	242.7
	 

	 Other (Income) and Expense (Note 4)
	 
	 
	8.2
	 
	 
	 
	263.4
	 
	 
	 
	56.8
	 

	 Foreign Currency Exchange (Gain) Loss
	 
	 
	23.4
	 
	 
	 
	40.7
	 
	 
	 
	(8.7
	)

	 Equity in (Earnings) Losses of Affiliates
	 
	 
	(8.4
	)
	 
	 
	14.5
	 
	 
	 
	13.8
	 

	 Minority Interest in Net Income of Subsidiaries
	 
	 
	57.8
	 
	 
	 
	32.8
	 
	 
	 
	55.6
	 

	 Income (Loss) before Income Taxes
	 
	 
	322.7
	 
	 
	 
	(690.3
	)
	 
	 
	(19.0
	)

	 United States and Foreign Taxes on Income (Loss) (Note 14)
	 
	 
	207.9
	 
	 
	 
	117.1
	 
	 
	 
	1,227.9
	 

	 Net Income (Loss)
	 
	$
	114.8
	 
	 
	$
	(807.4
	)
	 
	$
	(1,246.9
	)

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 Net Income (Loss) Per Share — Basic
	 
	$
	0.65
	 
	 
	$
	(4.61
	)
	 
	$
	(7.47
	)

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 Average Shares Outstanding (Note 12)
	 
	 
	175.4
	 
	 
	 
	175.3
	 
	 
	 
	167.0
	 

	 Net Income (Loss) Per Share — Diluted
	 
	$
	0.63
	 
	 
	$
	(4.61
	)
	 
	$
	(7.47
	)

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 Average Shares Outstanding (Note 12)
	 
	 
	192.3
	 
	 
	 
	175.3
	 
	 
	 
	167.0
	 


 The accompanying notes are an integral part of these financial statements.

THE GOODYEAR TIRE & RUBBER COMPANY AND SUBSIDIARIES

 Consolidated Balance Sheet

	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	December 31,
	 

	 
	 
	 
	 
	Restated
	 

	 
	 
	2004
	 
	 
	2003
	 

	(Dollars in millions)
	 
	 
	 
	 
	 
	 

	 Assets
	 
	 
	 
	 
	 
	 
	 
	 

	 Current Assets:
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 Cash and cash equivalents (Note 1)
	 
	$
	1,967.9
	 
	 
	$
	1,546.3
	 

	 
	 Restricted cash (Note 1)
	 
	 
	152.4
	 
	 
	 
	23.9
	 

	 
	 Accounts and notes receivable (Note 5)
	 
	 
	3,427.4
	 
	 
	 
	2,616.3
	 

	 
	 Inventories (Note 6)
	 
	 
	2,784.8
	 
	 
	 
	2,467.7
	 

	 
	 Prepaid expenses and other current assets
	 
	 
	299.2
	 
	 
	 
	305.4
	 

	 
	 
	 Total Current Assets
	 
	 
	8,631.7
	 
	 
	 
	6,959.6
	 

	 Long Term Accounts and Notes Receivable
	 
	 
	288.9
	 
	 
	 
	275.7
	 

	 Investments in and Advances to Affiliates
	 
	 
	34.9
	 
	 
	 
	184.2
	 

	 Other Assets (Note 8)
	 
	 
	78.3
	 
	 
	 
	71.5
	 

	 Goodwill (Note 7)
	 
	 
	720.3
	 
	 
	 
	658.2
	 

	 Other Intangible Assets (Note 7)
	 
	 
	162.6
	 
	 
	 
	150.4
	 

	 Deferred Income Tax (Note 14)
	 
	 
	83.4
	 
	 
	 
	70.5
	 

	 Prepaid and Deferred Pension Costs (Note 13)
	 
	 
	829.9
	 
	 
	 
	869.9
	 

	 Deferred Charges
	 
	 
	248.1
	 
	 
	 
	255.9
	 

	 Properties and Plants (Note 9)
	 
	 
	5,455.2
	 
	 
	 
	5,205.2
	 

	 
	 
	 Total Assets
	 
	$
	16,533.3
	 
	 
	$
	14,701.1
	 

	 
	 
	 
	 
	 
	 
	 

	 

	 Liabilities
	 
	 
	 
	 
	 
	 
	 
	 

	 Current Liabilities:
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 Accounts payable-trade
	 
	$
	1,979.0
	 
	 
	$
	1,562.8
	 

	 
	 Compensation and benefits (Note 13)
	 
	 
	1,042.0
	 
	 
	 
	987.6
	 

	 
	 Other current liabilities
	 
	 
	590.3
	 
	 
	 
	585.2
	 

	 
	 United States and foreign taxes
	 
	 
	271.3
	 
	 
	 
	270.7
	 

	 
	 Notes payable (Note 11)
	 
	 
	220.6
	 
	 
	 
	146.7
	 

	 
	 Long term debt and capital leases due within one year (Note 11)
	 
	 
	1,009.9
	 
	 
	 
	113.5
	 

	 
	 
	 Total Current Liabilities
	 
	 
	5,113.1
	 
	 
	 
	3,666.5
	 

	 Long Term Debt and Capital Leases (Note 11)
	 
	 
	4,449.1
	 
	 
	 
	4,825.8
	 

	 Compensation and Benefits (Note 13)
	 
	 
	5,063.8
	 
	 
	 
	4,541.7
	 

	 Deferred and Other Noncurrent Income Taxes (Note 14)
	 
	 
	405.8
	 
	 
	 
	380.6
	 

	 Other Long Term Liabilities
	 
	 
	582.6
	 
	 
	 
	464.7
	 

	 Minority Equity in Subsidiaries
	 
	 
	846.1
	 
	 
	 
	854.0
	 

	 
	 
	 Total Liabilities
	 
	 
	16,460.5
	 
	 
	 
	14,733.3
	 

	 Commitments and Contingent Liabilities (Note 20)
	 
	 
	 
	 
	 
	 
	 
	 

	 Shareholders’ Equity (Deficit)
	 
	 
	 
	 
	 
	 
	 
	 

	 Preferred Stock, no par value:
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 Authorized, 50,000,000 shares, unissued
	 
	 
	—
	 
	 
	 
	—
	 

	 Common Stock, no par value:
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 Authorized, 300,000,000 shares Outstanding shares, 175,619,639 (175,326,429 in 2003)
	 
	 
	175.6
	 
	 
	 
	175.3
	 

	 Capital Surplus
	 
	 
	1,391.8
	 
	 
	 
	1,390.2
	 

	 Retained Earnings
	 
	 
	1,069.9
	 
	 
	 
	955.1
	 

	 Accumulated Other Comprehensive Income (Loss) (Note 19)
	 
	 
	(2,564.5
	)
	 
	 
	(2,552.8
	)

	 
	 
	 Total Shareholders’ Equity (Deficit)
	 
	 
	72.8
	 
	 
	 
	(32.2
	)

	 
	 
	 Total Liabilities and Shareholders’ Equity
	 
	$
	16,533.3
	 
	 
	$
	14,701.1
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